FAM: SIS

HE: BISA(LUDIYY/LVHT)
el BIlg el (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
=2l 1,304,238 1,235,952 68,286
BIISAY (LB BTIHT /LB HT) 739,009 717,092 21,917
zJguel 314,809 292,892 21,917
MAEE 2 R 19,447 20,884 A1,437
201 YBr2 | 19,447 20,884 A1,437
T 19,447 20,860 A1,413
ooz 7,947
—2LRU (SA)
1,202 * BAIZH * 0.5kcal * 1202 620
—24BYUY (BEA)
1,202 * BAIZH * 0.5kcal * 1202 620
—HEUE (ARA)
1,27020 * BAIZH » 0.5kcal * 1202 * 7CH 4,268
— AR (ARA)
1,27020 * BAIZH » 0.5kcal * 1202 * 4CH 2,439
OASI I 3,000,0002 * 14! 3,000
OHE == (2652231) 3,000,0002 * 1CH 3,000
OB AXH9HIM) XYl 4,000,008 * 1CH 4,000
O 7 (96X 1355) 1,500,0008 * 1CH 1,500
CEEEE 8,127 7,715 412
101 2121t 2,565 2,450 115
VEENEEPIEERS 2,565 2,450 115
OstHgoley 36,6402 * 1% * 70 2,565
206 TH 2t 4,662 852 3,810
01 HEHI 4,662 852 3,810
O80Iae HYTT 7Y
6,002 * 3% * 7% * 23l 252
OstHe RR0H 3,810
—geg 1,860 * 250 ¢ 465
~-2R 1,6908 * 500! 845
— AR 2,508 * 1,000 2,500
OZJISHEEELHSEH 2L
5,008 * 10& « 128 600
307 2I12t0| 900 900 0
NEEFEETT 900 900 0
O REY) 15,0002 * 5% * 128 900
BorSax 2L 109,836 95,610 14,226
201 YEr2 Y| 108,032 93,806 14,226
02 B2 108,032 93,806 14,226
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FAM: SIS

o Z)|SAY (YU BBYT /L)
29 SJ)Sad (e
_ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 il ot o {imE=Eh
OX}2(2eHE HIIRS
6,0002 * 1,065 * 122 78,912
OBJIQNENE Jal H2S
6,002 * 1005 * 122 7,200
QRS £2/8l 50,0008 + 1,0065 * 40/100 21,920
401 Al EHIL 20| 1,804 1,804 0
01 Al&t| 1,804 1,804 0
ONS++2(SFHEYZ) 180,408 * 105 1,804
2EDASALY 48,435 39,963 8,472
101 2121t 22,352 21,350 1,002
VEENEEPIEERS 22,352 21,350 1,002
OZ28 o MZEHI o9y
36,6401 * 2% * 402 + 33 8,794
OZETASA(BL TN 22wy
36,6402 * 102 * 182 6,596
OZDESHH ALY 36,6402 * 37 » 302 3,298
OAMEMT B2 FHl %Y
36,6402 * 108 * 102 3,664
201 QEr2gy| 7,333 4,863 2,470
01 At 22|t 3,395 2,848 547
OBLXH S ZHIYR
300,000% * 3 * 23] 1,800
BClel A& FHl RXIHI 500,008 « 144 500
Oo0tSCie URA ZEsFa 2 X 1,095
—BOSE Y (BN YBH)
1,00020 * 30 * 365 1,095
02 ZZ2YH| 3,938 2,015 1,923
OZZoIA 22S4HB(LREH S)
20,0002 * 84 * 23] 320
OOSCIE YA TESTA(HAHA) 1,200
~F123 50,0002 * 128 600
—&. 545 22 50,0008 * 128 600
OFMYUE BHaFA 660
—®ilea 30,0002 * 122 360
—4.5t45 23 25,0008 * 122 300
024y IssyA 1,200
~F123 50,0002 * 128 600
—4. 545 22 50,0002 * 128 600
ORI RE 7Y LR 1,808 « 3004 558
206 T 2t 18,750 13,750 5,000
01 HEHI 18,750 13,750 5,000
0011 202 28 29
5002 * 6,000 * 23] 6,000
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M 218

M ZI|ISAY(LVBIHT/LBHY)

Sl ARDEQIBOAIY (25l &2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
ARDFITAY 424,200 424,200 0

401 Al & B2 2 CH bl 424,200 424,200 0
01 Al&t| 420,000 420,000 0
OARDFLIB A 420,000,0002 * 144 420,000
03 Al& 2 OhH] 4,200 4,200 0
OARDFOIHMAAY 420,000,002 * 1/100 4,200
HHS YA (ZII18)OIE/IIE 565,229 518,860 46,369
= 2| 414,309 366, 587 47,722
ol 2| 414,309 366, 587 47,722
101 Q1248 414,309 366, 587 47,722
01 24 91,969 84,899 7,070
Oxn224Y 83,753
—ARe 2R AT 83,753
SIEIES
8.078% * 242 * 36AI2t » 128 83,753
OBAXSH 8,216
—ARe2R A
80782 * 12 « 3AI2t « 3302 8.216
03 RI|HAZZ X2 322,340 281,688 40,652
OZ0IERAAFY 322,340
—Jles 1,230,3708 * 7% « 122 103,352
— 5013 39,489
JlZ4g  157,951,0802 /128 * 200% 26,326
Y24y
157,951,0802! /128 * 50% * 23] 13,163
—MBSRIY 157,951,080 /128 * 250% 32,907
—Zousg 24,720
sS+ge 90,0008 * 7% * 128 7,560
E-EPS= 70,0008 * 7% « 128 5,880
p/ER 4,560
5 )2 R 40,0009 * 5% « 128 2,400
% JIEk 20,0002 * 9F + 122 2,160
SRS 50,0002 * 7% * 128 4,200
Mg 30,0008 * 7% * 128 2,520
— =254 50,236
= o Z Al 160,008 * 7% * 122 13,440
IS EES 110,008 * 79 * 122 9,240
DERESY 140,008 * 7Y * 122 1,760
=E-ESIL]
157.951,0808 / 128 * 60% * 23l 15,796
—EZD224+Y 69, 186
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SN Bl
Y HH2HAHI(EI1S)(IIEH/IIEH
ool QE 2| (9 E2
DA EHB S (B0) - MBAY - BAS 0 4 04 S e HImE 2
0l &t
I ETEEPS=:
8,565% * 150% * 43Al12+ = 798 * 12& 46,406
su0Rsy
68,5073 * 150% * 15 * 7H 10,790
AR ESFII==Y
68,5102 7% = 25¢! 11,990
— o=l 2,450
- AHES= 100,000& = 1€ * 79H 700
- Hg=ot= 100,000& = 18 * 7H 700
- FE D) 20,000& * 12 » 7Y 140
29| 30,000& » 1€ * 7H 210
A5t 50,000& * 1= 7% 350
SR &2 50,000& = 18 = 7% 350
Jl23dl 150,920 152,273 A 1,353
Jl=23tl 150,920 152,273 A 1,353
201 LBer29gH| 59,720 51,323 8,397
01 At 2teltl 44,384 36,090 8,294
OsAEX 7Y 13,0002 * 248t A « 123 3,744
Odite=g 100,000& = 12& 1,200
OS2 Al 5,0008 * 34 «» 24F » 123 4,320
ORI 50,000& * 12& 600
(OF=ESE=, 24,100
—=2% 50,000& = 1H * 366! 18,300
—A 50,000& » 1 * 116 5,800
ogagza+7Y 200,000& * 1 * 23| 400
OJIEtAIE 2 3| 5,000& * 249 = 12& 1,440
OS24l 8,580
—S A2l 500,000& * 1.5CH 750
—Zglf =2l 100,000& = 500 * 50/100 250
—=ADIEYH 200,000& = 53| * 1.504 1,500
—HO2IHEUH(EY) 200,000& * 53 * 504 5,000
—PC==2l 100,000 = 24CH = 20/100 480
—J|Et&E =2l 50,000& * 12& 600
02 2224l 15,336 15,233 103
OFNEERERS 400,000& * 12& 4,800
OREAES 9,000&  2CH = 123 216
OANRAEIRZ 650,000& * 12& 7,800
ol =2J1= 80,000& * 12& 960
(OFSPIRCLESES s pte = 100,000& * 23| 200
O4.ot=Ee= 80,000& * 12& 960
OZMNERE S 100,000 * 23| 200
O&FETE LT 100,000& * 23| 200
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2A: 3INS
M HHE2AZHI(ZI13)(OIEHIIE)
&t D=3l
S HE - S(EH) - NRAY - BES Of) &t o4 S
0f 4 o
202 (44l 77,040 80,250
01 S LHA bl 5,040 5,250
SYRFEZWHAHE 70,0008 * 24H + 3 5,040
02 EHNHYI 72,000 75,000
OSHJAE AN 250,000& * 249 « 12& 72,000
203 g =&l 11,760 11,800
01 JI 22 RFLAY| 6,600 6,600
SEI22ZLYF=EH 6,600,0008 » 1 6,600
02 I RF=EH 960 1,000
OSZANLH R F= 2| 40,000 * 24H 960
04 FEN2IHRFLAY| 4,200 4,200
OSRMASZYE A 350,000& = 12& 4,200
204 XM R=H A H| 2,400 2,400
01 MBI R4aAY| 2,400 2,400
SEELEEEES 2,400
-S& 150,000& = 1¥ * 128 1,800
—-F2¥ 50,000  1H = 123 600
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